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8. Substituting 1 for x makes the ?
equation true. 300=225+75
300=300
x=0:
R Rubric
4(0)+9=13 a. 2 points
° b. 1 point for answer; 1 point for
0+9=13 explanation
9=13 11.a. 1,2, and 3 are solutions of
x=1 1122x+5.
4(1)+9=13 M22)+5  1222)+5
4+9=13 12245 112445
13=13 127 1129
x=2
4(2)+9=13 1223)+5  1122(4)+5
8+9=13 12645 112845
17213 1211 1213
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b. 1and 2 are solutions of 11 >2x+5.
M>20+5  11>2(2)+5

11>2+5 11>4+5
M>7 11>9

1>23)+5  11>2(4)+5

1>6+5  11>8+5
1M1 11513

c. The answer from part a includes 3 as
a solution, while the answer from part
b does not.

Rubric

a. 1 point for solutions; 1 point for
reasonable work

b. 1 point for solutions; 1 point for
reasonable work

c. 1 point

. Jasmine is incorrect about 3 being a

solution of the inequality 16 2 11x — 6.
The inequality is not true when
substituting 3 for x.

16211(3)-6
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16233-6
16 227
Jasmine is correct that 2 is a solution of

the inequality 16 > 11x — 6. The inequality
is true when substituting 2 for x

16211(2)-6

16222-6

16216

Rubric

1 point for saying 3 is not a solution;

1 point for saying 2 is a solution; 2 points
for explanation with work
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6.EE.5

SELECTED RESPONSE Select all correct answers.

Select the correct answer. 5. Which statements below are true when

1. For what value of x s the equation
4=12x-21rue?

®

®

©2
™6
2. Which values from the set
{1.2,3,4, 5, 6} are solutions of
9<20+37
® x={1.2}
® x={3.4.5.6}
© x={4.5.6
® x={1.2.3,4,5,6
3. Whatis a common solution of x - 8 < 2
and 7.5 2x- 137
@9
® 10
© 1

(B The inequalities do not have a
‘common solution

[STEETE

x=57
B 3=2x-7
B 3<2-9
©2<x+6
@ 18=6x-12
®3=2+x
CONSTRUCTED RESPONSE

6. Is 4 a solution of 7 < 5x - 167 Show
‘your work

7. Do all of the values from the set {5, 6, 7}
make the inequality 9 - 3 < 60 true?
Explain
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4. Rachelis typing a 1,500-word report. Her
progress is represented by the equation
1,500 = 500 + 50¢, where tis the number
of minutes spent typing. If she does not
take a break, how many minutes does
Rachel need to type to finish her report?
(A 10 minutes.
® 20 minutes
© 30 minutes

(B 40 minutes.

8. What value(s) from the set {0, 1, 2} make
the equation 4x + 9 = 13 true? Show
‘your work
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9. What values from the set of natural
numbers make the inequality 6 + 2x > 8
true? Explain.

1. 2. Which values from the set {1, 2, 3, 4}
are solutions of 112 2x + 57 Show
your work

10. Kyle is saving his money to buy a
computer for $300. He has already saved
$75, and plans to save an additional
$22.50 each day.

. Write an equation for the number of
days Kyle will need to save in order
1o buy the computer.

b. If Kyle saves for 10 days, will he
have enough money to buy the
computer? Explain

b. Which values from the set {1, 2, 3, 4
are solutions of 11> 2x + 57 Show
your work

. How are your answers from parts a
and b different?
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12. Jasmine says that 2 and 3 are solutions
of the inequality 16 > 11x - 6. Is Jasmine
correct? Explain. Show your work.
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6.EE.5 Answers

1.8
2.c

3.B

4.B
5.A,C,D
6.x=4

7<5(4)-16

752016
74
4is not a solution of 7 < 5x — 16 because
7is not less than or equal to 4.
Rubric
1 point for answer; 1 point for
reasonable work

7. No. When substituting 7 for x, the left side
of the inequality is equal to
9(7) -3 =63 - 3= 60, which is equal to
60 and produces a false statement.
Rubric
1 point for answer; 2 points for
explanation

©

Rubric
1 point for answer; 1 point for
reasonable work.

All values from the set of natural numbers

except for 1 make the inequality true.

When substituting 1 for x, the left side of

the inequality is equal to

6+2(1) =6 +2=8, which is not greater

than 8. When substituting 2 for x, the left

side of the inequality is equal to

6+2(2)=6+4=10, which is greater

than 8. Since the left side of the inequality

increases as the value of x increases, the

inequality is true for all natural numbers

greater than 1.

Rubric

1 point for answer; 2 points for

explanation

a. 300=225t+75

b. Yes, Kyle will have enough to buy the
computer if he saves for 10 days
because 10 is a solution of the
equation 300 = 22.5t + 75

300=22.5(10)+75




